



### Florida Department of Transportation

**Vendor Ranking** 

Page 1 of 1

**Letting:** 01240815

 Contract: E1X33-R0

**District**: District 1

Counties: DIST/ST-WIDE, LEE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

**Project(s)**: 43272927217 (\*)

Contract Desc: Fencing

Ran	k <b>V</b> endor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Winning bid	\$133,716.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Page 1 of 4

## Florida Department of Transportation



### **Tabulation of Bids**

**Letting:** 01240815 August 15, 2024 **Call Order:** 009 **Contract:** E1X33-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272927217 (\*)

Contract Descr: Fencing

The work under this Contract consists of Fencing.

Line No / Item ID A	Iternate	Quantity Units	(1) SOUTHEAS GUARDI	RAIL &				
() indicates item is bid as Lun	np Sum		ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(FI	ENCE REPAI	IR (LF					
0005 0550 10221 FENCING, TYPE B, 5.1-6.0', \ WIRE ATTMT	W/ BARB	350.000 LF	24.60000	8,610.00				
0010 0550 10222 FENCING, TYPE B, 5.1-6.0, V COATING	V/ VINYL	850.000 LF	22.80000	19,380.00				
0015 0550 10228 FENCING, TYPE B, 5.1-6.0, F EXISTING	RESET	500.000 LF	12.00000	6,000.00				
0020 0550 15 22 FENCE REPAIR, TYPE B, LIN ASSY	NE POST	10.000 AS	48.00000	480.00				
0025 0550 15 25 FENCE REPAIR, TYPE B, CH GALVANIZED MESH ONLY, S HEIGHT		50.000 LF	14.40000	720.00				
0030 0550 15 35 FENCE REPAIR, TYPE B, CH PVC COATED GALVANIZED ONLY, 5.1- 6.0' HEIGHT		2,000.000 LF	12.00000	24,000.00				
0035 0550 60222 FENCE GATE, TYPE B, DOU 12.0' OPENING	BLE, 6.1-	2.000 EA	1,800.00000	3,600.00				



Page 2 of 4

# Florida Department of Transportation



# **Tabulation of Bids**

Lettin	<b>g</b> : 0 <sup>-</sup>	1240815	August 15, 2024	Call C	Order: 009		Contract:	E1X33-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SOUTHEAST GUARDRA	AIL &				
() ind	dicates item is bi	id as Lump Sum		ATTENUATO Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(FENCE REPAIR	R (LF					
0040 FENCE	E550 6221 POST BRACE	E (TYPE B) (6')	25.000 EA	240.00000	6,000.00				
0045 FENCE	E550 6222 POST LINE (T	ГҮРЕ В) (6')	25.000 EA	42.00000	1,050.00				
0050 FENCE	E550 6224 POST PULL (*	TYPE B) (6')	25.000 EA	240.00000	6,000.00				
	E550 7221 MAINTENANO ED WIRE) (6')	CE (TYPE B)	300.000 LF	3.60000	1,080.00				
	E550 7222 MAINTENANC FABRIC) (6')		300.000 LF	4.80000	1,440.00				
	E550 7422 MAINTENANC FABRIC, PVC		2,500.000 LF	12.00000	30,000.00				
0070 FENCE	E550 22 30 , TYP B (PVC	COAT) (6')	750.000 LF	21.60000	16,200.00				
0075 FENCE (6')	E550 22 31 , TYP B (W/BA	ARB WIRE ATT	300.000 ACH) LF	24.00000	7,200.00				
0080 FENCE (TYPE I		OST ASSEMBL'	5.000 Y EA	240.00000	1,200.00				



# Florida Department of Transportation



# **Tabulation of Bids**

Page 3 of 4

Lettin	<b>g</b> : 0124081	5 Augu	ust 15, 202	4 Cal	l Order: 009		Contract:	E1X33-R0		
Line No / Item ID Alternate Quantity Item Description Units			(1) SOUTHEAS GUARDI	RAIL &						
	dicates item is bid as Lun	np Sum		ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION: 0001 (FENCE REPAIR (LF									
0085	E550 32 31		3.000	252.00000	756.00					
	, CORNER POST ASS B WIRE ATTACH) (6')	,	EA							
0001 FENCE REPAIR (LF) Section Totals: \$133,716.00										
	Cont	ract Grand	Totals:		\$133,716.00					



## Florida Department of Transportation

08/15/2024

### **Tabulation of Bids**

Page 4 of 4

Letting: 01240815

August 15, 2024

Call Order: 009

Contract: E1X33-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.